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2. ZAEL2
2.1 M HE(2EAZ)
1) Al EZHR
- BG-Grid : BG 60, BG 80, BG 100, BG 150

RF. (2= Z2AHS 1.82 1.80 154 1.63
RFa (LHAIZA Zt2H%) 1.02 1.08 1.08 1.06
- RFg (74 ZaAE -1.07 1.10 1.07 1.08

60/(1.82%1.02 % 1.07)=30.2
| BG 80 80 80/(1.80 % 1.08 X 1.10)=37.4
| | BG 100 100 100/(1.54x 1.08 X 1.07) =56.2
| | BG 150 150 150/(1.63 % 1.06 X 1.08) =80.4




4) dAHE

BG 80 : 6Lt
8+498 :
13.7 BG 80, BG 100, BG 150 | BG 100 : 4%t 9.62
~8+520
BG 150 : 16CH
8+520
43 BG 60 BG 60 : 8Ct 3.02
~8+537
12+168
5.9 BG 80 BG 80 : 9¢t 6.11
~12+180
12+180 BG 80 : 7Ct
7.3 BG 80, BG 100 5.77
~12+200 BG 100 : 4Lt
12+200 BG 80 : 7Ct
8.1 BG 80, BG 100 5.71
~124220 BG 100 : 5Ct
’ . BG 80 : 6CF
12+220
11.9 BG 80, BG 100, BG 150 | BG 100 : 5t 8.4
~12+300 .
BG 150 : 9C}
22 BUESY OINM HAE

cHelS® ¥t = 19KN/m
HAZ Lo ® = 33°

HEE T -0
ChE s 13KPa

F




2) Hotdd 4=

8+498
13.7 9.62 1.824 1.5 19.535 1.5 O.K
~8+520
8+520
4.3 3.02 2.609 1.5 6.880 1.5 0.K
~8+537
12+168
5.9 6.11 1.827 1.5 22.467 1.5 O.K
~12+180 v
12+180
7.3 5.77 1.883 1.5 12.664 1.5 0O.K
~12+200
12+200 :
8.1 5.71 1.811 1.5 8.136 1.5 O.K
~12+220
12+220
- 11.9 8.4 1.887 1.5 18.417 1.5 O.K
~12+300

dE Zof ot Y o2 J[FUNES UESIE YEIE QHYE Aoz mEE.

3) oty Y HE

8+498 L

13.7 9.62 15 | 2.76 O.K
~8+520
8+520

4.3 3.02 1650| 15 279 | 20 | 388 | 25 0O.K
~8+537
12+168

59 6.11 1649 15 [ 364 | 20 [ 648 | 25 0O.K
~12+180
12+180

7.3 577 1648 15 [ 297 20 434 | 25 O.K
~12+200
12+200

8.1 5.71 1648, 15 (274 | 20 | 364 | 25 0.K
~12+220
12+220 | .

11.9 8.4 1674 15 [ 259 | 20 | 3.25 | 25 0O.K
~12+300
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